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where [ is the glectric current through the object and I7is the

Conductance Unpp ):5] 51 emiﬂs

Fora ing clement, glectrical resistance R and electrical G are defined as

4= f =S 5]

G = frac{ 1} R = \frac{l} V'

The unit siemens for the conductance G is defined by
—

lelmathrm {S} = 'Omega™{-1} = \dfrac {\mathrm {A} | {'\mathrm {V'} [5} [ Q] ]

where £ is the ohm, A is the ampere, and V is the volt.

For a device with a conductance of ane siemens, the electric current through the device will increase by one ampere

for every increase of one volt of electric potential difference across the device.

The conductance of a rm istor i”h a {:‘shl ance of five ohms, for example, is (i )71, which is equal to 200 mS

"j’i—“ 5_[_:(1:.] — v p,25=20M5

Resirtaace

Mho[edit] [ M{ Q2

age (leotrical potential difference).across the object. I"Mho" redirects here. It is not to be confused with Mohs (disambieuation).

|A name that is used as an alternative 1o the siemens is the mhe /mou/. the reciprocal of one ohm. It is derived from
lspelling gl backwards and is written as an upside-down capital €
[U+2127 (©3). According to Maver[2) the term niho was suggested by Sir William Thomson (Lord Kelvin). The no

Iwas officially renamed to the siemens. replacing the old meaning of the "siemens unit”. at a conf in 1881031
g ik Siieis

[NIST's Guide for the Use of the International System of Units (SI) refers to the mho as an "unaccepted special name

OLM W%o

=]

ek IEtter omega: [ mho. Unicode symbol

lfor an ST unit", and indicates that it should be siricily avoided. ¥
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Wk the Polarityto the source figure with + and -signs.

VA DT
=234w
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23 EQUIVALENT CIRCUITS
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